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g T 7 fore o ¥ Sueie |tem % fag e

e feenfeat =i ovoemn ?
(1) 1985
(2) 1990
(3) 1986
(4) 1987
(5) SR a1 TR
TR S R el fd R 2
(1) ¥R
() T
(@) T
@) TR
(5) ST oA TEd
TS SR ® TR § FEfaiEy we W faem
T B T FYE T T R 2
(1) T=as S oS A o ®9 H S
. SRl
@) mmmwwwﬁwam
R
(3) ko= H TR hi ST9H et whi feiferd e
1 SARER B B
T3 h ST & B9 H %ﬂmm%n
(5) SWTE < =R

T it e TR T e S ® 2
(1) =it 3o H SieA B

(2) mqﬁrwmmﬁ aﬁﬁ:mﬂﬁ
eI T

(8) Hife ATl
((,4) aﬂﬂﬁqﬂmﬂmﬁﬁwmﬁﬁ

Fr3iied
(5) ST E T TR
10, TS = S ¥ uRG H R 98§ 999 a1y

g7 .

/(,); 1917
@ 1921
(3) 1907
4) 1915

— (B el &=
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In which year did the United Nations adopt
the UN Guidelines for Consumer Protection ?
(1) 1985

(2) 1990
(3) 1986
(4) 1987

(5) Not attempted

Where is Salar Jung Museum located ?
(1) Mysore ‘

(2) Goa

(3) Bhopal

(4) Hyderabad

(5) Not attempted

-

Consider the following statements about

Democratic Governments. Which statement

is not correct ?

(1) Democracy is also
representative democracy

(2) Democracy guarantees universal adult
- franchise

known as

(3)  Indemocracy people have power to elect
their leaders:

(4) Democracy is also known as Oligarchy
(5)  Not attempted

Why Earth is called the ‘blue planet’ ?
(1) = Because it has life.

{2) Because more than 91% of the Earth is
covered with water.

(3) Because it is blue in colour.

(4) Because more than 71% of the Earth is
covered with water.

(S) Not attempted

In which year did Gandhiji arrive in India from
South Africa ?

(1) 1917
@) 1921
(3) 1907
(4). 1915

(5) Not attempted
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; juht
Khabar Lahriya, a newspapcr run d";};t‘;i‘it’

1 33 Sfera wfeemsi Ghmmm% ok ﬁfﬁi B pate w in Chitrakoot
37 . ali omen ’
Wﬁmﬁmﬁmgﬂ T S S U Uttar Pradesh, comes out in which local
1 Rreir i language ?
W (1)  Pishoni
@) mEﬁ (2) Awadhi
1(3) sl (3) Bundeli
4 T (4) Tulu
(5) SWAE I =R (5) Not attempted
16. 3 T W & feremw ) Ao T H | e A | 16 The substances whi_ch turn red litmus into
EEAREE G A { blue are . in nature.
(1) 331'{:13_"1_ (1) Neutral
2)  Acidic or Basic
2) T A AR ( ,
/:3;/ sy i (3) Acidic
4 3 (4) Basic
i, ! (5) Not attempted
(5) TR o =R ‘ |
17. -qa\;qa;w 1 TTHT I B 17.' The normal temperature of human body is :
(1) 98.4°C b | :;: zz;ﬂéc
98°C i
(3) 1 358E (3) 35°C
4 37°C . 4)..37C
(5) ~SECH W =Ted { o ~ Not attempted ‘
18. Frefeon & § M 3 oreh S H WET Bl | 18, Which‘ of the following helps in clotting of
g2 il : blood ?
(1) TIRE i (1) Platelets
e T T FIREHL (2)  White Blood Cells
@) fedrenfa  (3) Haemoglobin
HTOTRTd (4) Red Blood Corpuscles
(4) TR
(5) S 1 =med (5) Notattempted
10, G=r T 1 g S IEF € 2 ‘ ' 19. Which is the most common carrier of
e communicable diseases ?
(1 ?ffra"} (1) Dragonfly
@) (@) = Ant
3 1 (3) Housefly
@ weE (4)  Fruitfly
(5) v A & e (5) Not attempted b
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If a body covers 100 km in 5 hours its speed
will be :

24.
B ____E"l"ﬁl _ (1) 20 km/hour
A1) 20w /H ; (2) 500 km/hour
(2) 500 fHHt. /e (3) 20 meter/hour
(3) 20 HiE /s (4) 20 centimeter/hour
(4) 20 Yiet/ s (5) Not attempted
(5) SRR o = |
25. . Which is the best conductor of heat from the
25. ﬁmﬁﬁaﬁﬁﬁaﬂa—mmmmmw%? following ?
= (1) Silver
(1) = 4
;@:ﬁﬁ'qtr (2) Aluminium
- (3) Wood
o Wﬁ i (4) Keroseneé
~ (5) Not attempted
(5) SR T & =l |
: 26. Night blindness is caused due to the
26. Iﬁ’fﬁ____ﬁﬁa?mﬁﬁ%l DiE
(1) fafEC ! (1) Vitamin C
(2 feafD (2) Vitamin D
3) ffEmA (3) Vitamin A
A faef B (@) Vitamin B
(5) SRAE MR (5) Not attempted
o7, Tao=ed g St & e e @ G o | 27.  Cockroach breathe through network of air
: %ﬁf%  FEg el ' -tubes called _ v
; ! : (1) Diaphragm
(1 feet - _
: (2) Stomata
2 W , _
' i i (3) Gil
m (4) Trachea
* ~ (5) Not attempted
(5) ST <A R :
| 28. Which ot el
s5. et A & i T s 8 et G €2 giis;;se_ SRl iy ot & deficiency
: /ﬁ =l ’ (1) Goitre
(2) A (2) Scurvy
(3) THiEE (3) Anaemia
(4) wARE (4) Malaria
(5) IO A & =med ~ (5) Notattempted
7% e @ feTe ¥arTel / SPACE FOR ROUGH WORK Page 7
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32. 9 faeey 1 99 Y N R % ¥ 34 YR Heifia
& Y O 9% IR UE ¥ Heifd B
W:Wﬁm::?ﬁ'lz_?_,
(1) Wi
(2) CEHES

=
@ =T
(5) W& o TR

33. foum =1 === s
(1) e
(2)

(3) PN
it
(5) SR < IR

34. 9 ST &R & TE I SFAfed %E # fon
3| TRl F 39 HUSH S 9 S SATER
3TER} I AR ) W UH AT A[ a1 |-

L N s ..A IMG

TN TR A T

(1) 3,5,4,2,6,1
2,6,3,1,4,5

@) 5,4,2,1,6,3

4 3,5,6,2,4,1

(5) SR T < AwRd

35, 7w fAfydd F2T § ‘MUSSOORIE’ i
‘OTURQNTHG’ ferar < &, it St gesmn #
DELHY’ %! =1 feran <imem ?

32.

33.

34.

35.
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Choose the option which is related to the thjr‘d
term in the same way as the second term 18
related to the first.

Mosquito : Malaria : : Rat: __ 2

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue

(5) Not attempted

Find the odd one out.
(1) Sparrow

(2) Parrot
(3) Pigeon
(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

[P, - (G
1 28 BBE4 F| 6
3,5, 4, 26 1
2 2,6,3,1,4,5
(B) 514 251653
@) 3,5,6,2,4,1
(5) - Not attempted

If in a certain code language ‘MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1) FCNFK (1} FCNFK
(2) FCNGJ (2) FCNGJ
b FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) WAL & = (5) Not attempted
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40. g &1 S gt TAY ¥ AR YEaR @ 81 | 40, Privanka’s birthday falls on the third Friday
; of a month. The fourth day of that month is

Seft TR =t = &7 JEiA 1 el TR | the first Monday of the month. What is the
¥ St o feis T ®? date of Priyanka’s birthday ?
(1) 22 (LAt
@ 15 (2) 15th
23 (3) 23rd
@ 21 @ ' 21
(5) W e o1 9Ted (5) Not attempted

41 (0 5%x0 5+05_5)W%: 41. (05X05+05'—5) is equalto:

(1) 0.35 (1) . 0.35
2) 0.45 (2) 0.45
@ 0.15 (G015
0.25 4 025
(5) W &l o =R (5) Not attempted
4. T EEAET 2p, 5p a7 pF LCM. 3. 42. 'iI‘Sh:e L.C.M. of three numbers 2 p, 5 pand 7 p
1) 0038 . (1) 75p
A% . 70P @ 70p3
) , 3) 70D
(4 65p s -
) el T < e ' (5)  Not attempted

1 - 43. For which sum, the simple interest at the rate
43, THETMW 3§%aﬁaa@ 22 = 1 S P

3 ' 1
of BZ%perannumwi]lbe?QIOin 25 years ?

ST 21087
2,800 T (1) 2,800
By 2,500 (2) 2,500
3 %1,580 (3) 21,580
(4) 2,400 (4) 2,400
(5) T e (5) Not attempted

4. AGaTAD <1 fuat T’Ii’a; %: @ -1 et 44. Ifaand b are two distinct integers, then which
g7 of the following is incorrect ?

(1) a+0=0+a=a (1) a+0=0+a=a
(2) a-0=az0-a (2) a-0=a#0-a

(3) a+b=h+a (3) . at+b=b+a
(4) a—-b=b-a

/(4) a-b=b-a
(5) AR &1 =ed (5) Not attempted
HANTV/ F2 o 214 & Terw warrel / SPACE FOR ROUGH WORK s
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20 ehe gu @ arft & fasor o 7Y il a | 49 20 litres of aomixture contains milk and water
in the ratio 3 ¢ 1, The amount of milk to be

- R sysqor N e @9 T Bren sm

SIRRID 3:1%l Wﬁﬂﬂ Y fopee | LR L "”1‘ added to the mixture so as to make the ratio
411,18 ;

(1) 5 litres

(2) 6 litres

o T8 ST 4 ¢ 1 BSIT
(1) 5@t

(2) 6 @R &
. 7 litres
"
By~ 7R (4) 4 litres
(4) 4e (5) Not attempted

(5) SR TE & e

0.2 x 0.2 + 0.01
 gimplification of es :
50. Simplification 0.1% 0.1+ 0.02 7

2 x0.2 + 0.01
0.2 x0.2 + D52 2 meet o TR, WIS A ¢

0.1x 0.1+ 0.02
/ 1 i]'
4
9
9 g 5
o) g
@ 2
5 it
2 3
5
41 (4) E
[idia 12
4 12
(5)  Not attempted
(5) S TE oM A
4 51. If the selling price of an article i i ti it
: cle is = times its
=fe fersit g a1 forshr e S9eh e & 1 5 T ' 3
N cost price, then the profit % in the transaction
%, 39 e & oy wiavE © is
1 25%% 1) 25%%
2 2
2) 333% " (2) 331%
3 3
2 2,
(3) 165% (3) 16-5- Yo

1

bt o
}[/ 205 Yo (4) 205 Yo
(5)

(5) = e & A Not attempted
ITV /F2 0 @19 @ feru zare / SPACE FOR ROUGH WORK Page 13
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52. ATEwH W 4 bl loﬁ:?fﬁmm%’ B 3! 52 Acando%ofaworkm 10 days, Beanq,,
I T 40% I F -
20 & wrman & R ¢ st
. |
1 . g in 20 days and C can do ol
aﬂﬁiﬁlgwmmﬁmm%laﬁﬁﬁﬂw Bl lete th, )
. work in 13 days. Who can complete the.,,
E{)maﬁmmmﬁmw%? work in minimum time ?
& .
_ (1) €
Aqem
e C 3t (2)  Aand Cboth
@ B @ A
, 4 B
(5) S
e (5) Not attempted
53. =G (a+b) : : =6 : 7 ;
b(a b) %(bgc) $(e¥a)=6: 7 B | 3 If (a+b) : (bhc) : (cta)=6:7:8,
atb+c=14% Wcd: a+b+c=14,thencis:
(1) 8
(1) 8
2
53; 6154 ’ 2 14
- @ 6
' 4) 7
(5) <R & < AR -
(5) Not attempted
54. A, B C 7 faeet t =R § % 50,000 T yLue . .
afE A B ¥ 4,000 Afw EMCRABACH | o one © together invested 50,000 i
N _ usiness. A invested ¥ 4,000 more than
¥ 5,000 314 I, T 35,000 % Fel oy H and B invested ¥ 5,000 more than C. Outo
AH UTR: total profit of ¥ 35,000, A received :
M 213,600 (1) ¥13,600
@) 714,700 @ 14,700
3) ¥8,400 B) ¥8,400
4) ¥11,900 4)  T11,900
(5) ST & =Ted (5)  Not attempted
55 uw FR 1 GFe § 20 WX Fewd ¢ /T | 55 A car 8oes 20 metres in a second. Its SP
g ) econd.
& 3 In km/h is .
1 36 (1) 36
@) 20 (@) 20
A 72 . @ 72
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Choose the alternative which best expresses
the given sentence in Active Voice.

The invitation cards will be sent today.
))'1/‘ They will be sending the invitation

cards today. ;
2) They will send the invitation cards

today.
(3)  They will sent the invitation cards today.

(4) They will have sent the invitation cards

today.
(5) Not attempted

Choose the most appropriate alternative to fill
in the blank. '

The noise comes from the river.
(1) over
((21 across
(3) against
(4) Dbesides

(5 Not attempted

Find out the correct indirect speech of the
following sentence. ; Bk
He said, “Do you know German PR
(1) He asked me if I knew German.
) 1asked him if he knew German.
/(,’3)’ He asked me to know German.
(4) He asked me if he knew German.
(5) Not attempted ;

Find out the part of the sentence which has
an error. ;
If he is a millionaire, he would help

GET IT ON
Google Play

61. Pick out the synonym of the underlined word
in the following sentence.

The cellphone industry has ushered a new
phase of communication.
(1) heralded
(2) _collapsed
~ completed
(4) given up
(5) Not attempted

Fill in the blank with the appropriate option
given below.

62.

If you no confidence in self, you
are twice defeated in life.
/m have
(2) having
- (3) - has
(4) hadnot

(5) Not attempted

63. Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

caught red handed.

(1) _Caught very late
“Caught while doing the crime
(3) Caught sleeping
(4) Caught easily
(5) Not attempted

64. Pick out the correctly spelt word.

(a) (b) /(,1/)" minipulation
the Millennium Project in the future, - % manipeulation
© d manipulation
1) (© : (4) menipulation
2 @ (5) Not attemp-ted :
3 (a) :
@y ®) 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
). Find out the antonym of ‘absurd’. temple.
(1)  sane (1) ?.long
% refuse A7 in
(3) silly (8) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
AN
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66. i _ N
BMR? mWﬁﬁmemm 71, Freifed fomedl # 8 T Y P 4,
() Foxt e ;v v o D o
() T T I ¥ v @ -
T2 == | e
V((;}A waﬁamqﬁﬁm%l (5) ST <A e
67. 'S fovary 3 . 72. S0 T iR THAM R Bl 31
- ST TR A e ¥ o ifed s %
fere, wafirh s e 3 (1) ’Jﬂr%mmﬁm
Rt i 2y e e e
@) T (3) I IR RO R qer e
! P (4) 7RO B, 7 i B
> (5) S TR ol wed
(5) ST MR
‘ 73. TR fopg WIsE 1 ofciHl T T @2
68. ‘TRI Meen o1 v ¥ wdt R ‘ J),)/
T < T V13 o feTq Hefiferes Suger wagaet ——
% (3) wfaffy
o 4 THa
/g; g (5) ST &=
(4 74. I 3R I ol 5 a- .
(5) SRR A = 5 1 g welfeE
; 1
60, ‘et i S R TR’ e S :2: ST :;[
(1) dRfaFgE o
. -
(2) e g A fiRT & ST -
(3) o ufeE AT i s
” o @ ety o BT (5} 3T ey
(5) SR TE & A S
df-fr d ¥ W e ey 51wt S
7o, ‘qrArd’ weE ol weh ST Y : y \
(1) T )RR g
o + 99 ) “&ﬁw&m
(3) W+ w4 (3) WWW%
(4) TJ+ITIT9f /(4) T"E@H:ham
(5) F 74 & ATed (5) T
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e & ‘weRy e s e A ST
aﬂqﬁﬁmwmﬁrﬁaﬂ'aﬁmﬁmw%?

9/ 5,300

(2) 4,200
(3) 6,500
4) 6,000
5) ST & AR

mﬁm%ﬁ@am@%aﬁuﬁﬁnﬁflﬁaﬁm
S EIETIE LA

a) T T, Wi # fEE T

b FE HALTEE. Y gg T

s B A PIA-T1/9 FA TR G/T 7

1) (a) 3R (b) I

9) A (a) RAR (b)

';,)/W(a) |

4) s (b)

5) SO TR oAl Hed

Mﬁmﬁm@mﬁwmw
7T TohereT WA © 2

1) 50%
5)  45%

3) 65%

4) 55%

5) SR TE <A TR

RO iR uRE 1 fEeret 23 & e wfes daer
el fone forel & feara 272

76.

77.

78.

79.

GET IT ON

Google Play

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
(4) 6,000

" (5) Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a)only

(4) (b)only

IS) Not attempted

What is the approximate percentage of rural
population of the total population of

Haryana ?

(1) 50%
2) 45%
3) 65%
@) 55%

(5) Not attempted

Bhainswal Kalan, famous for giving sportsmen
to Haryana and to India is situated in which

district ?

(1 faErt
2 G (1) Bhiwani
e (2) Sonipat
S (3) Rohtak
(4) Karnal
(5) 3 & e (5) Not attempted
Page 17
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7

) W JHE
By

) <.t B

) wEE

) S ST =&

5) S <l =R

e 3 4 e 1 B W fen S SR
S 3 1Y T S A 2 \

1) TEER

oy Tawm

3

4 TS |

(5) SR < =

eREToN %1 o WY A W 2

s

(2) =

(}/'mﬁtﬂr

(4) el
(5) S & =

85.

86.

87.

GET IT ON
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Who amongst the following former upPsC
members was an IAS Officer of Haryana

Cadre ?
(1) Mata Prashad

(2) Subir Dutta

(3) P.C.Hota

4) S.K. Mishra

(5) Not attempted

Which amongst the following is not a canal
network system of Haryana ?

(1) The Yamuna system
(2) The Indus system

(3) The Bhakra system

(4) The Lift system

(5) Not attempted

districts of Haryana

Which one of the following
th Punjab and

shares border both wi
Rajasthan ?

(1) Hissar
(2) : Sirsa
.(3) Kaithal
4 J ind:

(5) Not attempted

88. The State Animal of Haryana is :

(1) Caxﬁel

(2) Tiger

(3) Black buck
(4) Elephant
(5) Not attempted

V/F2
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ot 35 Q) R TRyl e e St g e
g o W e © 7

1) T

2) ARTER

(3) HRER

By TR

(5) ST T e
wﬁ%wm%aﬁszﬁﬁwﬁa?
(1) ST e

2) TEEN TG A

(3) TR HIT I

4 TG SHGHI T

(5) SRR < =R

qrtTe 5 S g Frefetea ® § fraeh s geT
q?

(1) e ST iR HEs e

(2) & TR foE &R SiTSE

(@) e e SR SARTSte

(4) STEHR Y STe=El SR HUST

(5) SRR o =R

mmmﬁ?—mﬁq“ﬁrﬂﬁméﬁwmﬁﬂ
e e % w9 H wAE ST g ?

(1) A R
@/%ﬁmﬁnﬁaﬂ
(3) Ul HIEIR
(4) TEUHTCER
(5) SEAE & e

94.

95.

96.

@

(1)

97.

GET IT ON
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Two most important m

onuments
‘The LAT and the Humayun Moc:t.‘sthe ?tate
located at which place ? el

(1) Kurukshetra
(2) Naurangabad
(3) Fatehabad

(4) Mahendragarh
(5)

Not attempted

Identify the place where Guru Gobind Singh
stayed for 52 days after the battle with Hill

Kings ?
(1) Dhamtana Sahib

(2) Gurudwara Lakhan Majra
(3) Gurudwara Kapal Mochan

Gurudwara Damdama Sahib
(5) Not attempted

The Third Battle of Panipat took place
between :

Shah Alam and Muhammad Shah

(2) Guru Gobind Singh and Aurangzeb

(3) Nadar Shah and Aurangzeb

(4) Ahmad Shah Abdali and the Marathas
(5)

Not attempted

Which day of every month is celebrated as
“Tithi Bhojan Beti Ka Janmadin School me
Abhinandan” ?

(1) 3 Tuesday
(2) 4t Tuesday
(3) 1St Tuesday
(4) 2nd Tuesday
(5) Not attempted
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98. Wﬁmm,zozg%mww 08.
AT (THES-2030) wfaet e # afmon 7o #
P T ¥ 7
(1) =
(2) oTEat
(3) wEem
( et
(5) ST X =R

00. RN T Y Tk T AT - faeren Gy  an & 99.
(@) 21 S T e s F feen T ¥
(b) TEH T 1,800 Wi ArE v e S g
S H § F-1/Q o v 3/E?

(1) (a) 3R (b) S
(2) T (a) IRTH (b)
W(a)

(4) FEd(b)

(5) ST 8l <A =

100. Wﬁaﬁﬁmﬁ(sﬁmﬁﬁ)%aﬁﬁﬁq&f@a —
e R FrER SIS
(a) ERATMH <t 2. . heties o o qE S,

g aAfueh B |
TR 1 <. <1, . TR & ERSACT RS
& a1 B :
Wﬁﬁaﬁﬂ-@/ﬁwwﬁ%/%.
Q) (@) 3o T
2) 241 (a) AXAE (P)
3) F9d(2)
(b)
(5) Eﬁ??ﬁéﬂﬁﬁﬁ
.000"
o5 14 & fe10 ZeNet | SPACE
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GET IT ON
Google Play

—

p India’s Environment Repo”

th :
As per the rank of Haryang St

wcl';ﬁ::vilzg Sustainable Developmen“
TSDG-ZOBO) ?

(1) 6th

) gth

@ 1

@ 3

(5) Not attempted

i the following statements
\(;.’Oicrlltf\ird;fension Scheme - a State Sche
the Government of Haryana.

A woman of age 21 years and al
eligible.
[t carries an allowance of T 1,800

()

(b)

Which of the above statement/s i
correct ?

(1) Both (a)and (b)

(2) Neither (a) nor (b)
(3) (a)only

(4)  (b)only

(5) Not attempted

Consider the following statements abou!
State Domestic Product (GSDP).

(2) GSDP of Haryana is more than
Karnataka.
GSDP of Maharashtra is more th
of Haryana.

Which of the above statement/S
correct ?

(b)

(1) Both () and (b)

(2)  Neither (@) nor (b)

) (a) only

(4)  (b)only

(5)  Not attempted
~00o0-
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